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Retinoscopy

» When the practitioner shines the light of a retin
into an eye, they see the light reflected from the reti

» This reflected light is called the retinoscopic reflex, or ‘red
reflex’;

» it looks like a red light inside the pupil. Depending on the
person’s refractive error,

» when the practitioner moves the retinoscope, the red
reflex will move in a certain way inside the pupil.

» Trial lenses can be used to measure the amount of
movement that a red reflex has so that the refractive error
can be estimated accurately




Types of Retinoscopy :

*There are two types of retinoscopes:
1 Streak retinoscopes

2 mirror retinoscopes(simple retinoscpes)

They both measure refractive errors
in the eye




1- Streak retinoscopes contain from:
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Retinoscope have many shapes




Rules of examination

» The patient
looking at
the snellens
chart
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WORKIN DISTANCE

* Working distance my be 1m or 3 quarter or half m
w.d was 1m == gybtract 1 diopter

3 quarter m subtract 1.5 diopter

* half m subtract 2 diopter

At this distance, the examiner can clearly see the movement of
light over the patient's pupil

The examiner can use and change the experimental lenses from
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If you use a working distance of 67 cm: subtract 1.50D from the lens power that
neutralize the red reflex because: P =100/f in cm

= 100/67=15D

Compensating for working distance:

There are two ways to compensate for the retinoscopy working distance when
estimating a person’s distance refractive error:

Calculation method:

- Find the trial lenses that give neutrality.

- Subtract 1.50 D (or 2.00 D) from the power of these trial lenses
(depending on your working distance).

- This Is the power of the lens that will correct the person’s refractive
error (as measured by retinoscopy).
Example 1:

+ A +5.00 D trial lens gives a neutral ret reflex at a working distance

of 67 cm
-» +500D - 150D = +350D







Motion of retinscope

FROM
RETINOSCOPE

Streak reflex With movement Against movement
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Against motion

1- AGAINST i YOPIA MORE THAN 1 DIOPTER
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RED REFLEX FROM RETINA




Against motion

The examiner eye @ \ \ The patient eye |

# AGAINST MOTION MEANS MYOPIA
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(With motion)

PRI PUTTING +1.00 D.s OCCURE ONE
.| FROMTHIS POSSIBLE CASES

-
v




(With motion)

The patient eye




EMMETROPIC EYI
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